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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER — Ve EXAMINATION - SUMMER 2016

Subject Code: 3351905
Subject Name: Estimating, Costing & Contracting

Time: 02:30 PM to 05:00 PM
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Attempt all questions.
Make Suitable assumptions wherever necessary.
Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.

Use of only simple calculator is permitted in Mathematics.
English version is authentic.

w LN o

w

o x

~N 0 o £

© o oo G

o

10.

(a)
(W)

(a)

Answer any seven out of ten. €20Hi&ll SlEURL Alclotl scllol WL

What is factory cost?
%523l sl 9 © ?

Explain the profit/loss at breakeven point.
Qs oot W2 UR ol8l/ofsulol 9 URL A UMl

Give five examples of variable cost.
UAA well ulA Gele0L L.
Explain the flash loss in forging.
SloToll s AU 9 B A UMt
Define “book value”.

“ojs A ol callvul WM.
List three welding consumables.
AQL AR So%YNGIAY oll ollH AL,

List reasons for Depreciation.

YA UL oll 5100 Anl.
Define costing and estimation.

SIRZOL WA AU A ™Uotoll cautvall .

What is economic batch quantity?
U5 clel geell” ML

Explain “rate contract”.

Re-slalse yHesall.

List and explain the assumptions made in breakeven analysis.

Qs ool AUARY HE2 ol YRR cvll UnHestadl.

OR
Explain procedure for constructing breakeven chart.

Date:26/05/2016

Total Marks: 70

1/3

14

03
03

03



Q.3
sl 3

(1)
(b)
(W)

(b)
(&)
(©)
(8)
(©)
(8)
(d)

(S)

(d)

(S)

(a)
(W)

(a)

()
(b)
(W)

(b)
(¢)
(©)
(8)
(©)

(8)

As Sctol A Al ol A UMt
‘Breakeven analysis is a management tool’-Explain it.
‘As Scolot Woll[ARRY A Naxiee] 2 &'~ AHtaldl.

OR
Drive relation for profit-volume ratio.

W32 cled oll ol of Yot drel.
What is ‘margin of safety’ in breakeven analysis?
Qs ool Welll@RUHL ‘UHAl dul uMestaldl,
OR
Discuss effect of various parameters on the breakeven point.

As Sclol Wo2 U MA$dl UR oo ol Al $3.

Fixed cost in a factory is Rs 10,000 per year, the variable costs are 2.00 Rs
per unit and the selling price is Rs 4.00 per unit, Calculate Breakeven point.

As SUe(l i a2l W 3.10000 Ul ay ual Wss2 €ls ARAWA
slke 3.2.00 Aol AARSIHA Ulsse €16 3. 4.00 &l l As Bclel

Qa2 ofl ol 52U

OR
Fixed cost of a firm is estimated as Rs. 5.00 lacs. The firm is selling a product
manufactured by it at a rate of Rs 50 per item. The variable cost/unit are
estimated at Rs 25. Determine (i) breakeven point in units (ii) breakeven
point in rupees.

As sioll BelBd (3525 512 3. 5 cwl B.A 1 Aol Ulsse 3. 50
Yyl oot €ls QAL 52 B.ARAA W 3. 25 YlA oot B.(1) Qs Bclot
WeSo2 w2UHL (2) A5 Bclol Weoe 30l Hi 20

Explain how cost of a forged component is estimated.
glof AAcll s1dlale ofl Slke 585 I BelallHl WA B yuestadl.
OR

Drive formula for finding machining time for shaping operation.

Aot B uRAAML Helllat atgfu el of YA Rl
Determine formula for economic batch quantity.

(A5 Rl el HIR of Yo Al

OR
Explain (1) cutting speed (2) depth of cut (3) over travel

Auestadl (1) s@at s (2) 3w g g2 (3) BlaR glad

Explain the procedure of estimating the cost of machined part.

(ol sl Wé o0l Wl vielesal ofl Il wHstadl
OR

List and explain benefits of budget.

olB2 ol SLRAELR LUl AHstelal.
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Estimate the time required for cutting 3 mm pitch threads on a mild steel
bar of 2.8 cm dia. and 8 cm long. Assume the cutting speed for
threading as 15 m/min

HIes Wl ol 2.8 AL st ua 8 Al dougalnt ok ui 3
Q2 olt s wisal M2ell AxA NU.stol 1izell s@at 2Uls 15

/R ull

OR
Find the time required to drill 6 holes in a casted flange each of 1 cm depth, if
the hole dia is 1.5cm.Assume cutting speed as 20 m/min and feed as 0.02
cm/rev.

As see sl sAwul ,1.5 AL statell ,1 A GslSall 6 Sl s2cll
2ol AHA 5ol lls 20 Hl/RAe ua §ls 0.02 Axl izl

Give definition of contract and list various types of contracts.
slogtse ol catvall WUl yelyel slogtse ofl Al sletieal.

OR
What is tendering? Explain its types.

2s(Fat A2 9?7 Aell YsRA (AN AUt
Write short note on Pattern Allowances.
Vaol AABA GUR &5 olltl AU,

OR
Explain cost estimation in (any one)
(1) Diesel generating set (2) ice plant

ol Aot SlESURL As (AN 512 WASIH Aot AH st
(1) Sl 2oL A2 (2) ;USU WClo2

List and discuss different methods of overhead allocation.

@QRAUI w2l ol A cdull Aot @V AHstalAl.

Explain cost estimation in gas cutting.

AU sRol slre AAEH et AMesteldl.

Explain cost estimation steps in arc welding.

AEA®Lell Sl vieleraltotl votellaun cull

Explain cost estimation in foundry.

$108logl Hi 512e AU HA UHM A

Discuss the skills required for an engineer to become good cost estimator.

URL Sl AUENRR dotall HIZ AR %37 slacel (AN uul
5.
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